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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

Warning: col

[’ FVOPH] ]

is missing

—&— PHO

10

20 30 40 50




Trend plot forP3-9 0
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P3-9

BrE) | GEBAK @) | ERE(EAH/K (XS R

06:45 300 150.0 FE| 1BRi&@06:45 Bzh (RFAERESE)
07:10 300 150.0 & =| 1Ri%e07:10 Bz (kAEREEE)
08:55 300 150.0 & =| 1Ri%e08:55 Bz (kAIEREE)
10:10 300 150.0 (% =| 1Ri%@10:10 Bzl (REERSE)
11:20 300 150.0 (& =| 1BRige11:20 Bzh (REERESE)
12:10 300 150.0 [ =| Ri%e12:10 Bz (kAR
13:00 300 150.0 FH| 1Ri&@13:00 B (RAERKSE)
14:10 300 150.0 FA| {Ri%@14:10 Bz CGRAEEE)
15:00 300 150.0 PH| {Ri%@15:00 Bz (RAEEKSE)
16:00 300 150.0 FA| 1B2i%@16:00 B3h (KRABIEREE)
23t+[3000.0 (10%) 1500. 0 3203 KEC: 2080.0, PH: 5.8

TERRHERE STRMERT (195.0 : 150.0), AAEAT—@AE XAHE
BRIASERRIERE150. 0 ml.
#[EKECE (2080.0 vs 4370.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=51 (2025-05-23)
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P3-9

Bfig) | JEBATE (7)) | ERE (AR | KR e

06:40 294 150.0 & =| 1Ri%@06:40 Bz (KABHEREE)
07:05 294 150.0 (& =| 1Ri%@07:05 Bzh (KAHERESE)
09:25 294 150.0 FA| {Ri%@09:25 B (RAHEEEE)
11:45 294 150.0 FA| 1Bike11:45 B3 (RAEREE)
13:35 294 150.0 PH| 1{Ri%e13:35 Bl (RAERESE)
2it| 1470.0 (5%) 750.0 323 KEC: 2080.0, PH: 5.9

FEREHERE STEELRF (191.0

PRIASLPRIEBRE138.0 ml.
#[EKECE (2040. 0 vs 4380.0) 5

138.0), FAIREHT—@E XA M5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

0.75 A

0. 50 -

P3-9_0, Day=50 (2025-05-22)
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P3-9

ByiE) | GEBIETIC (F)) | EHME (BAH/K) | XS ERE

07:25 294 150.0 (Z=| 1BRige07:25 Bzh (REERESE)
07:50 294 150.0 (Z=| {Ri%@07:50 Bz (REAHEHSE)
09:25 294 150.0 & =| 1Ri%e09:25 B (kAEREE)
10:25 294 150.0 |Z=| 1BRige10:25 Bzh (REERESE)
11:15 294 150.0 (& =| 1Bige11:15 Bzh (REERESE)
12:00 294 150.0 (& =| 1BRiB@12:00 Bzh (KREEREE)
12:45 294 150.0 [Z=| 1BRige12:45 Bzh (REERESE)
13:25 294 150. 0 E| {Rige13:25 Bah (RE{ERSE)
14:10 294 150.0 E BRige14:10 Bz CGRAERESE)
14:55 294 150.0 5| 1Rike14:55 Bz (REERS)
15:50 294 150.0 F BRi%e15:50 Bz (GRAERRE)
17:05 294 150.0 F BRige17:05 Bz (GRAERESE)
24t 3528.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

HERRHEME STEAERTS (191.0 : 147.0), AIgERF—RE XAH45
BRI\ SEPRIERL147.0 ml.
#[EKECE (2163.0 vs 4165.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)
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P3-9_0, Day=49 (2025-05-21)

T e g g e S S B S g
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Warning: lcol ['ECB’,| 'ECC’'] missing
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